----ÖZYEĞİN-------ÜNİVERSİTESİ-2. First Order Dif. Eq. Nişantepe Mah. Orman Sok. No:13 34794 Alemdağ $\frac{dy}{dt} = f(t,y) \quad (L)$ Çekmeköy İstanbul T: 0216 564 9000 F: 0216 564 9999 2.1 Linear Equations: (Method of Integrating Tactors info@ozyegin.edu.tr IF in (1), f depends line orty on y, it is called afirst order linear eq. To get the most general form, we replace const. a and- $\frac{dy}{dt} = -\frac{2}{3}y + b$, a, b are const. by func. of E, dy + p(E)y = g(E) (pig are given) E_{x} : $(4+6^2) \frac{dy}{14} + 2ty = 4te.$ General 501. $(4+t^2)y = 2t^2 + C$ $\frac{dy}{dt} + \frac{\partial y}{\partial t} = g(t)$ (2) (3 is given const., g is given f.) We'll consider on eq. of the form Multiply eg. 2 by M(6), which is not determined yet; Won't to choose M(F) such that the left hand side is a total der. of M(H). y. But d (M(H)y) = M(H) dy + (d M(H) y) So, $d\mu(t) = \mu(t) = \partial \left(\frac{d\mu(t)}{dt}\right) = \partial$. => $ln(M(E)) = \partial E \cdot C_1$ $u(E) = C \cdot e^{\partial E_1} (e^{\partial E_1} e^{C_2} = e^{\partial E_1}$ $u(E) = C \cdot e^{\partial E_1} (e^{\partial E_1} e^{C_2} = e^{\partial E_1}$ dE d M(t) = M(t) ? Jamit, de = Jaidt de

----ÖZYEĞİN------ÜNİVERSİTEŞİ-

Note 3: Usually it is better to leave the sol. in implicit form rather than trying to solve it explicitly. Thus for non-linear eq. solve the pollowing eq means find the solution explicitly if possible, but otherwise implicitly. Nişantepe Mah. Orman Sok. No:13 34794 Alemdağ Çekmeköy İstanbul T: 0216 564 9000 F: 0216 564 9999 info@ozyegin.edu.tr If the right side can be express as a func. of the ratio Y/x only, then the eq. is called Homogenaus. Such eq con alwyoys be transport into separate forms by a changeof the dependent var. $\left(\frac{y}{x}-\frac{y}{y}\right) \Rightarrow Homogeneus Eq.$ Ex $\frac{dy}{dx} = \frac{y-4x}{x-y} \Rightarrow \frac{dy}{dx} =$ Let v= J/x => y= X X(x) $\frac{dy}{dx} = \frac{d}{dx} (x \cdot v(x)) = v(x) + x \frac{dv}{dx}$ => (1-1) diotes a dx co.uk $Page - \frac{1-v}{x} 2v - 0 \int \frac{dy}{x} \Rightarrow \int \frac{-1}{4(v-2)} dv + \int \frac{-3 dv}{4(v+2)} = lr |x|$ x. dv = v²-tiew from dx preview => -1 ln lv-2) + -3 ln lv+21 = ln lx + c => - ln 1v-21 1v+213= ln 1x14+c => ln1x1++ ln1v-211v+213= lnc $x^{4} |v-2| |v+2|^{3} = C$ $\times 4 | \frac{y}{x^{-2}} | \frac{y}{x^{+2}} | = C.$ ≥ 1y-2×11y+2×13= C General Sol. in implicit form.

C3. Second Urder scheding, and the const. coefficients:
A second order ODE has the porm

$$\frac{d^2y}{dt^2} = f(t,y, dy)$$
 (1)
Where f is given force eq (1) is theor if f has the form
 $f(t,y, dy) = g(t) - p(t) dy - q(t) (2)$
that is, if f is linear in y and dy . In (2), g_1p_1g
at $given$ force, that do not depend on y
We verify write
 $y'' + p(t)y' + q(t)y = g(t)$ (3)
We might also see
 $p(t)y'' + Q(t)y' + g(t)y = G(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (4)
 $p(t) = Q(t), q(t) = g(t)$ (5) if $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (5) if $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $p(t) \neq 0$, $q(t) = g(t)$ (3)
 $p(t) = Q(t), q(t) = g(t)$ (4)
 $p(t) = Q(t), q(t) = g(t)$ (5)
 $p(t) = Q(t), q(t) = g(t)$ (5)
 $q(t) = q(t), q(t) = g(t)$ (6) if $q(t) \neq 0$, $q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t) = g(t)$
 $q(t) = q(t), q(t)$
 $q(t) = q(t), q(t)$
 $q(t) = q(t), q(t)$
 $q(t$

The next question is whether on this infinite family. We first look at whether c, and c2 can be chosen to satisfy the ic; y(to)=yo, y'(to)= yo (2) $\begin{cases} c_1 y'(t_0) + c_2 y_2(t_0) = y_0 \implies \text{The det. of the system is} \\ c_1 y'_1(t_0) + c_2 y'_2(t_0) = y_0 \implies \text{The det. of the system is} \end{cases}$ $N(y_1, y_2)(t_0) = y_1(t_0) = y_1(t_0) = y_1(t_0) y_2'(t_0) - y_2(t_0) y_1'(t_0)$ $y_1'(t_0) = y_1'(t_0) = y_1(t_0) - y_2(t_0) y_1'(t_0)$ If W=D, the the system 2 has a unique sol. (c., c. regardless of yo and yo; $(3) \quad c_{1} = \frac{y_{0}}{y_{1}(t_{0})} - \frac{y_{0}}{y_{0}} (t_{0}) - \frac{y_{0}}{y_{0}} (t_{0}) + \frac{y$ -2 y,(to) y'(to) - y',(60) y (60) If W=D, then system (2) has no sol. on this yo and y. have values that also make the numerators in (3) equal to 0 So if W=D, there are many initial cond. that cannot be sotisfied no matter how C, and Colere Othosen The det. W is called thrower of sal. y, and yz. L Why preview pane 22 0 The det w is called throman of sall y, and y2. We denote Why preview page 22 of Why preview page that y, and y2 are two sol. of Theorem 3.2.3 suppose that y, and y2 are two sol. of and that the initial cond. is given by g(tol= yo y'(to)= yo are assigned. Then it is always pass to choose opnist of and ce so that y= c, y, (t) + c, y, (t) satisfies (4) and the above initial cond. if and only if W= y1 y2 - gi y2 is not sero of Eo.

Theorem 3.2.7 (Abel's Theorem)
Theorem 3.2.7 (Abel's Theorem)

$$f(y) = y'' + p(E)y' + q(E)y = 0$$

where p and q are cont. an an open interval I , then the
 $W(y_1, y_2)(E)$ is given by
 $-\int p(E) dE$
 $W(y_1, y_2)(E) = c = c$ is depending on y_1 and y_1
Further; W is either zero $\forall E$ in I (if $c = 0$) or else is prevel
 0 in I
Proop: $y_1'' + p(E)y_1' + q(E)y_1 = 0 \longrightarrow$ multiply $y_1 by - y_2$
 $y_2'' + p(E)y_2' + q(E)y_2 = 0 \longrightarrow$ multiply $y_2 by - y_2$
 $y_3'' + p(E)y_2' + q(E)y_2 = 0 \longrightarrow$ multiply $y_2 by - y_2$
 $y_2'' + p(E)y_2' + q(E)y_2 = 0 \longrightarrow$ multiply $y_2 by - y_2$
 $Jet W(E) = Lw(y_1, y_2)(E)$ $W' = y_1 y_2'' - y_1'' y_2 = 0$.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + p(E) W = 0$ Notes safe project linear eq.
 $W' + 2E' y'' + 3Ey' - y = 0$, for YE .
 $O = 0$ and $y_2(E) = E' O = 0$ and $y_2(E) = E' O = 0$.
 $W (y_1, y_2)(E) = -3E^{-3/2}$.
 $Pewriting the dif eq.
 $y'' + \frac{3}{2E}y' - \frac{1}{2E}y = 0 \Rightarrow q(E) = 3/2E$
 $\Rightarrow W (y_1, y_2)(E) = C \cdot e^{-\int_{2E}^{2E} dE} = C \cdot E^{-3/2}$
This gives the Wronstion of any poir of sol. For the particule
sol. C is given $-\frac{3}{2E}$.$

Exi Solve the dif. eq. y'' + 4y' + 4y = 0 $y = v(t)e^{-2t} \implies v'e^{-2t} - 2ve^{-2t} = y'$ $y'' = v''e^{-2t} - 4ve^{-2t} + 4ve^{-2t}$ $r^{2} + 4r + 4 = 0$ $f_1 = f_2 = -2 \implies g_1(E) = e^{-2E}$ $\left[v''(t) - 4y(t) + 4y(t) + 4y(t) - 8y(t) + 4y(t)\right]e^{-2t} = 0$ $v''(t) \cdot e^{-2t} = 0$. $y = c_1 \cdot te^{-2t} + c_2 \cdot e^{-2t}$ y''(t) = 0v''(t) = OLec 7. Oct, 12. Heduction of Order Suppose that we know one solution yild, To find Θ second solv let otes 94 y'' = v'(t) p'(t) v(t) 0 (1) y''' = v'(t) p'(t) v(t) 0 (1) y''' = v'(t) p'(t) + p'age 27'(t) + v(t) y''(t)not everywhere zero, of $y_{1}v''+(2y_{1}'+py_{1})v'(t)+(y_{1}''+py_{1}'+qy_{1})v(t)=0$ Sub. into (1) $= y_1 v'' + (2y_1' + py_1) v' = 0$ which is ∂ first order eq. for v'. Once V' is found, v is found by integration and finally y This procedure is called the reduction of order.

Hemark: Thr. 3.5.2 states that, to solve the normalingered eq. J. we must do chree things (Find the gen, sol. of the corresponding homogeneous e c, y, + c, y, which is usually colled the complementary sol. and denoted by $y_c(E)$. 2) Find a specific sol. Y(t) to the nonhomogeneous eq. often it's referred as particular sol. 3 Form the sum of the punc. in Step 1 and Step 2. The Method Of Undetermined Coefficients; To find particular sol. of By"+by1+cy=g(t), we use the following table: gill) $t^{s}(Ao \in A_{1} + A_{1} + A_{n})$ $P_n(E) = 20E^n + 2_1E^{n-1} + ... + 2n$ there s is the entremonnegative integer (S=0, Lor2) there s is the entremonnegative integer (S=0, Lor2) there s is the entremonnegative integer (S=0, Lor2) that white that no teger 32 104 nd is a sol. of the ES (AE"+A, E"++ ...+An ext I find the gen. sol. of the corresponding homogeneous Make sure g(f) is one of the following; exponential, sines, cosines, poly nomials or sums or products Qq. 3. If g(E) = g, (E) + g_2(E) + ...-+g_n(E), form n A. For the i-th subproblem assume Yild according S find & porticular sol. Y:(f) for each subproblem, Chen sum Y. (Elt. + Yn(E) as the particular sol. of the full non homogeneous p.

thinkly, we need to impose the cond. that y is a sol to (1)
By dif
$$y^{(n-1)}$$
 we obtain
 $y^{(n)} = (u_1, y_1^{(n)}, \dots, u_n, y_n^{(n)}) + (u_1^{'}, y_1^{(n)} + \dots + u_n^{'}, y_n^{(n)})$ (e)
To satisfy the eq., Sub. Y and its derivatives in (1)
from (3), (6), (8), (9). Then we group terms involving y_1, \dots, y_n
and their der. Then most terms because each y_1, \dots, y_n
is a sol. to the homogeneous eq. so $\mathcal{L}[Y] = 0$
The remaining terms
 $u_1^{'}, y_1^{(n-1)} + \dots + u_n^{'}, y_n^{(n-1)} = g$ (10)
So we have n algebraic eq. for $u_1^{'}, \dots, u_n^{'}$
 $\int_{U_1}^{U_1} u_1^{'} + \dots + y_n^{'}, u_n^{'} = 0$ (11)
 $y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_2^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_1^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_1^{'} + \dots + y_n^{'}, u_n^{'} = 0$
 $(y_1^{'}, u_1^{'} + \dots + y_n^{'}, u_n^{'} + \dots + y_n^{'} = 0$
 $(y_1^{'}, u_1^{'} + \dots + y_n^{'}, u_n^{'} + \dots + y_n^{'} = 0$
 $(y_1^{'}, u_1^{'} + \dots + y_n^{'}, u_1^{'} + \dots + y_n^{'}$

Ex: Consider the func. given by $f(t) = \begin{cases} 2, & 0 \le t \le 4 \\ 5, & 2 \le t \le 7 \\ -1, & 7 \le t \le 9 \\ 1, & 3 \le t \end{cases}$ We stort with f(t) = 2 which agrees with flf. To produce the jump of 3 units of of t=4, we odd 3 units to f.(E). So f.(E)=2+344(E). The negotive jump of 6 units at E=7, we add - 6 ugle) f3(E)= 2+ 3u4(E) - 6 u7(E) Finally we add 24g(t) F(E) = 2+ 344(E) - 647(E) + 248(E). The Laplace transform of 4c for c7,0 is given by. $= \int e^{-st} u_c(t) dt = \int e^{-st} dt = e^{-cs}, s \neq 0.$ g(t) = { f(t-c), t);c. gives a transmini which gives a translation of f a dist. c in the positive + direction In terms of uclt), we can write g(t)= wclt), f(t-c) (y= No(f) f((-c)). t(0)

The generation of proceed entropy of sustements of pirst order linear eq.
The gene theory of a system of n first order linear eq.

$$\begin{cases} x_1^{1} = p_1(\ell|x_1+...+p_{1n}(\ell|x_n+g_n\ell)) \\ (x_n^{1} = p_n(\ell|x_n+...+p_{1n}(\ell|x_n+g_n\ell)) \\ (x_n^{1} = p_n(\ell|x_n+g_n\ell)) \\ (x_n^{1} =$$

The specify sol. of system repers to the ith component of the j-th sol. Thr 7.4.1: If the vector functions \$2" and \$2" are sol. of system (3) then the lineor comb. GX(1+C_2X(2)) is also a sol. for any c, and cz. (Principle of Superposition). By repeated applications of 7.4.1 we can conclude that if $\vec{x}^{(1)}, \vec{x}^{(2)}, \dots, \vec{x}^{(n)}$ are solutions of (3), then $\vec{x} = c_1 \vec{X}^{(1)}(t) + \cdots + c_n \vec{X}^{(n)}(t)$ is also a sol, for any constants c,, ..., cn. So ever finite linear comb of sol. of (3) is also a sol. The question is whether all sol. can be found in this way. Let ZUI, Z'IN be N SOL OF (3). And consider the MOEFIX XIE X(E) = X(E whose cols. The $\vec{X}(\vec{H}) = , \vec{X}(\vec{H});$ The cols. of X(E) are linearly independent for a given value of E if and only if det X = D for that t. This det called Wronskipn of the n sol's. x'll, ..., x'ln) is also denoted by W[x',...,x'n']; $W[\vec{x}^{(1)}, \dots, \vec{x}^{(n)}](t) = det x(t)$ The sol. Z⁽¹⁾, -, Z⁽ⁿ⁾ are then Lincorly independent at a point if an only if their W is not zero there. Thr 7.4.2. If the vector functions $\vec{X}^{(1)}$, ..., $\vec{X}^{(n)}$ ore linearly independent of (3) for each point in the interval alters, then each sol. Z-Ø(L) of system (3), con be expressed as a linear comb. $\vec{\varphi}(t) = c_1 \vec{X}'(t) + \dots + c_n \vec{X}(t)$ (6)

Note that according to Inr 7.4.1, on expressions of the form (6) are sol. of (3), while by Thr 7.4.2 all sol. of (3, the form (6) are sol. of (1) con be written in the form (6) If constants ci, ..., on are arbitrary, 161 is called the gen. sol. Any set of sol. $\vec{x}^{(1)}$, $\vec{x}^{(n)}$ of (3) that are linearly independent at each point in $x < t < \beta$ is said to be a fundamental set of sol. for that interval. Thr 7.4.3. If $\vec{x}^{(1)}$, ..., $\vec{x}^{(n)}$ are sol. of (3) on $\propto t \not x \not \beta$, then in this interval $w \not x \not x^{(1)}$, ..., $\vec{x}^{(n)}$] either is identically zero, or ely 7.5 Homogeneuous Linear systems with Constant Coefficients. We'll consider where A is a constant non matrix. We'll assume that all elements A are real numbers. We'll seek sol. of the form Notesale. Co.UK Where Pele exponent prage the vector ? are to be det. Substitution into Minimed. of A are real numbers. Substituting into (1) we get $r \vec{r} \vec{q} \vec{r} = A \vec{q} \vec{q} \vec{k} \Rightarrow r \vec{q} = A \vec{z}$ (A - rI) = 0 (2) where I is the identity matrix (nxn). To solve (1), we most solve the system of abgebraic 20, (2). The vector x is a sol. of (1) provided r is an eigenvalue and 2 is an associated eigenvector. of the coefficent matrix A. If the n eigenvalues are real and different, then associated with each eigenvalue ris is a real eigenvector of is and the n eigenvectors Full -- , full are linearly independent. The corresponding sol. of system (1) $\vec{x}^{(l)}(t) = \vec{p}^{(l)} e^{r_l t}, \quad \vec{x}^{(l)}(t) = \vec{p}^{(n)} e^{i n t}$ To show these form 2 fundamental set of sol., we evaluate their (L

Supposing the string is clistorized from its equinorium
with 0 releatey, we must have

$$u(x_10) = f(x)$$
 $u_{\xi}(x_10) = 0$; $0 \le x \le 4$ (5)
We use the method of sep. of UP.
 $u(x_1t) = x(x)T(t)$
Taking the der. and sub. into (4) $\frac{x^n}{x} = \frac{1}{x^2} \frac{T^n}{T} = -7,700$
 $\begin{cases} X^n + 7X = 0 \\ T^n + \alpha^2 \Rightarrow T = 0 \end{cases}$
By the boundary cond. we get. $X(0) = 0, X(4) = 0$
So the second initial cond. gives $X(x)T'(0) = 0 \Rightarrow T'(0) = 0$
From the second initial cond. gives.
 $3n = n^2 \frac{\pi^2}{t^2}, X_n(x) \approx \sin(n\pi x), n = 1, 2, ..., T^n + \alpha^2 = 0 \Rightarrow T^n + n^2 \frac{\pi^2}{t^2} = 2 \frac{\pi^2}{t^2} = 0 \Rightarrow T^n + n^2 \frac{\pi^2}{t^2} = 2 \frac{\pi^2}{t^2} = 1 + \frac{\pi^2}{t^2} =$

$$\frac{\partial x \in i}{|x|^{-1} + 2} \lambda \ge 0 \quad \lambda = \mu^{2} \ge 0 \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} \ge r_{1/2} \quad r_{1/2} = r_{1/2} \quad r_{1/2} \quad r_{1/2} = r_{1/2} \quad r_{1/$$

 $u_{2} = + i \mu_{n} \rightarrow T(t) = ki \cos(\mu_{n} t) + kc \sin(\mu_{n} t)$